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Questionl:-gpLrym WrsLamd ehg <,er(H Bl UDHDg
A:-1809
B:-1812
C:-1080
D:-1815

Correct Answer:- Option-A
Question2:-ygom g shssSms Hlmeslweury wimry ?
A:-sjwesmef]
B:-vnfprgmuent @@
C:-aneu@arL sHoumLilgerT
D:-eum&LiL_menbgest
Correct Answer:- Option-D
Question3:-yanandreiwer Geueme HMISHD 6Ths er(h BLHSS ?
A:-1946
B:-1947
C:-1942

D:-1945

Correct Answer:- Option-A

Question4:-@BHw Casslw sradlredlen (PSe Saneval wimy ?
Ar-surey by Cume
B:-grgmumi peuCrmadl

C:-sgauamyeomed Gm(m



D:-W. C. urearjsl
Correct Answer:- Option-D
Question5:-gMEflum seursdHnH @ samaveantd srmidlwely wmy ?
A:-5m0&5Q0 FhHg)
B:-gmo mibLl
C:-85g)
D:-srey)
Correct Answer:- Option-B
Question6:-Bleursgen GUTTTLLLD 6ThE par(h) BLbSg ?
A:-1932
B:-1930
C:-1947
D:-1929

Correct Answer:- Option-A
Question7:-@BSlwimelled srhHlal BLSSW (Pps5e sHHWTSTs QuISSHD 6eTg) ?

A:-oisgmunsg Wl CeuameblmssLd

B:-gibLimyen s5Hwndlysid

C:-sidlbens @QuISsLD

D:-GleudrenerwiGenr GlouaflGuim @uissb

Correct Answer:- Option-B
Question8:-@dlw CsHw rramieuseans Hlmedlweuy wry ?

A:-guney spdly Cumen

B:-sn68\1Cesy a5

C:-usg Slmi

D:-@ i Qe

Correct Answer:- Option-A

Question9:-@\mpgeurgetien ene eTemm HenLPSSUILIHLD anFLiLIen ST 6Tg) ?



A:-Liermeumed
B:-agmy_(hens
C:-Camalavgmeor

D:-QurseresrGrm
Correct Answer:- Option-D

Question10:-CusuCLmblwureliler oirF SneBSTLD TGl ?
A:-omil
B:-2.f
C:-2 (&
D:-umiCemetr
Correct Answer:- Option-A
Questionll:-s7euCsg GH U Slemd eriCumg) ?
A:-CGw 10
B:-Cw 29
C:-Cw 15

D:-Gw 20

Correct Answer:- Option-C
Question12:-Cw 2024 & @QBHwr erbs Brliged @QmBHg S400 gojsamanrenut eurmbidluig ?
A:-gaswim
B:-feurm
C:-Qwf&aT
D:-soliLiment
Correct Answer:- Option-A
Question13:-w@ser erangnH @ Wsa b durmssorear ellatsssmss GCaiey CFuiwie|b
A:-@winemeuiléd 2 6TeT & 2 WFLDTET eneS0lSTLT&eT

B:-@wwieead Ffleysatlc 2 6rer L[hg ST(HaeT



C:-@uuwinemauliled 2 ¢rer peeti oiflaer
D:-@uwiwemauier sflosatler CamenL sresdld o (Haur@ Levblelaflger
Correct Answer:- Option-D
Question14:-19emeu(HLd FanmIFHeTed 6Tg 2 EwTenLoUIEE) ?
A:-umflGaml, Cgenmil - sood BSl&ERSE @QenL Gl DebBII6TeTg)
B:-umfiCgriy, Wwmev - grall pSlaEnsE Qe Cu ienbgleTeng)
C:-850GsL, Qsant) - solb hAsEnhEE QoL G Simibsdrars)
D:-Qbgismai Gamll, saib - Asa) pHs@Erss QLG Si@bbgdes)
Correct Answer:- Option-A
Question15:-amjevev Lrjefleter Liflenrmng GCamumlenl gepd dledliicd 2u16|5HE

vweruhgHwieury wimy ?
A:-Cgen Geuuy
B:-erdledl Lj&0lsiin
C:-QanFuil evbluesgy
D:-ysevl smbGL
Correct Answer:- Option-C

Question16:-9emeaumeuareudiled pdlweeanliber alflasr (Hseo Camum(hgefle g

©ecveney ?
A:-@lovous s L 2 56l
B:-geonggmy wpmib svedl 2 flennser
C:-er&H@h&E@G D CLTSERsELD Fo Calameavd @, FIo 2arglwib
D:-570UC88 ieind) Hmb LTESTI®U 2 0 Qi
Correct Answer:- Option-B
Question17:-Yeeumeuameudled ergl Ul ly SHO®TG (PSOH ?
A:-gran (gnCurensw) wpged(H

B:-CaflliLy wpgeS(H



C:-fleneowimer eneuliL]
D:-QgmLi (psed(h
Correct Answer:- Option-A
Question18:-Carer weflg o flan <y emamussler semaveurf wmy ?
A:-BHudl vof oimearr@wmy Wevrm
B:-uuff prefeu Glegullen
C:-Bud) vof phsprs Wevrm
D:-Bdlud) voff erev. wewfl@wmy
Correct Answer:-Question Cancelled
Question19:-Caper 2w FdHwerpsslen sHCUTMSW Heneanto BHuS wimy ?
A-BHLg padlay BACsHST Coemi
B:-BdlLdl oimewr Licamed)
C-Eugl . @u. spdlrE

D:-Bgludl .. spglg
Correct Answer:- Option-A

Question20:-Eelbg SHeTanTTiqUimed 2 (HeUmeT LiL Lb
A:-2_euoren Lol e
B:-GQummener el GLiflwig
C:-plflTse)
D:-samediprerng
Correct Answer:- Option-C
Question21:-@\p uflore QWSSSS6T 6 2 STrarLd
A:-upeneu LIDLILIG)
B:-a4&1M spapieug
C:-g(m Qummer SCip el (poug

D:-e(m waflgen Cryme sreneouiley pLbg CFdeug)



Correct Answer:- Option-B
Question22:-sL_alem < pdeng eredlL LwemhSSLILmHD Camammia 6Thg <fenaaeT

vweru(hgsLu(hH&lermen ?
A:-@leime o LipnGamet &
B:-Crig Cuwir
C:-e1860 Gy
D:-evl_grCameils
Correct Answer:- Option-D

Question23:-lengmrsens CHOlESEEFmIG I ¢(hH ALIL| SPSSLILIHS DG
A:-Qeslumdl Ly
B:-eoL_Cuwim(h
C:-iq el evLiy
D:-eoL cTosL K&
Correct Answer:- Option-A
Question24:-ySlenwd oMl shdlrefen sHmLILITNS STeLD
A:-27 mrlser
B:-27 1/3 mpriser
C:-28 prlser
D:-28 1/3 mpr ser
Correct Answer:- Option-B
Question25:-cuafle e N(PS555mS SemedlL LiweTUHID sTHD(WPSSLreflenw
sear(HL9g SHeur wimy ?
A:-ga0le0l G
B:-uimevgev
C:-CLrflCgeved

D:-QuiGesrmadl



Correct Answer:- Option-C

Question26:-sLaflen S fimsSHler sryanrioreg eafluder
A:-gaflallevsd
B:-ureuev
C:-eflafliby efleneray

D:-@nis&E0H
Correct Answer:-Question Cancelled

Question27:-@\rear(h elambleuafl srsamansamer Lien_&5 @QbSIW-6wf&Es Clueamr wmy ?
A:-QflwmisT vofeusvgeur
B:-seuierm gmeveum
C:-&lflagm Lier_eom
D:-saflsm afldadluitban
Correct Answer:- Option-D
Question28:-p&E; srant el &@b GHuasEL DG Lwlss, We imdld @)me@Ld
BUEESATD o5 ?
A:-yeoum CgearGLmifl
B:-495 4Ly
C:-efl Guimedr

D:-srfCuimlwmr
Correct Answer:- Option-A
Question29:-2023 y1b yariged Coudlufwiedier Crmied Lflens oiger ser(hLligLiL] HMILD

CsmEUUSsTs alpmslLL L g)
A:->GUml_Lmests e
B:-@eunarLLb Lemertlser
C:-a0lsHlwib sjwer GuiLflger

D:-wrugn $lmssLd



Correct Answer:- Option-B
Question30:-sflwmer LGlenerd SevrLHlLieLb.

CH=CH Gswiul’ L @by Gwmii/870k = ?

A:-uimellSeor
B:-uimedl &G e
C:-Quen&err

D:-GLmeyiaen

Correct Answer:- Option-C

Question31:-Yemau(peueteuDhled 6Tg ADSHESLILIL TS G6UTERTL LD eTeraer e Clgm@LiL

?
A-n=2, =1, m=1,s=+%
B:-n=1,1=0,m=0,s=+%
C-n=4,1=3, m=2,s=-%
Di-n=3,1=2, m=-3,s=-%
Correct Answer:- Option-D

Question32:-VSEPR Gamum g6 Lilg, 6 epedsdaled 2 arer MeanewriiL] Gaymig

gL _prensaflen  ereTantlEams epemmTEa D, St Gy eTevsL_Frensert e eramentlsans

QITETL_T&H6|D @)(HHSTE, CLPLEFHIGT enLoLIL
A:-Cgmemred
B:-§Cgm
C:-geanggiyid

D:-T augeud

Correct Answer:- Option-D

Question33:-epasamm CeusmsErs@ QoG sflurar elldlssmss CHiH0SHESSLD !

g b srsSluinrer Cousd Um) , symafl Cousd (Ua.) HMID apLl srafl g7 CousbU,m.)

A:-1:1.128:1.224
B:-1:1.224:1.128
C:-1.224:1.128:1
D:-1.128:1.224:1



Correct Answer:- Option-A

Question34:-ahGum@Garmieafe 6rbg srartLd 2 Carsld o drerg) ?
A:-Co
B:-Na
C:-Fe
D:-Cu

Correct Answer:- Option-C

Question35:-#50; wieatlullen @Qananths Sled HMID @eenhs &Trb WpeadnGw

’

A:-H,50, 50%
B:-s03-H,50,4
C:-Hs50; 503
D:-50%; mso;

Correct Answer:- Option-A
Question36:-gGarmGrmsumib wHmd HSCCLmer sebg CUDLILIL L SrFe Saeamel
reyedler FL L &Se0l(mbg) ----------- clevsamed s (HEng

A:-Gpiienm

B:-erdljoenm

Cruggefud

D:-gowb

Correct Answer:- Option-B
Question37:-Hlasmad s5550&5E0 pamwmer Grer . CFuUTL g 6Thg euUTu]
vweruhssLLhEng 7

A:-@Cermifleor

B:-<iGwimig 6o

C:-amiue enL &5 (h

D:-amjues Guorerméaeana(h

Correct Answer:- Option-D
Question38:-Briser sHGFwTs e eflag LMbLYET iHSHED CUBSTD 2 BIGET HoumFD

LHMID @sWS Flg iy ASsALLsHE; eraner anmiComen Sryarronsng ?



A:-o1_flestedleor

B:-engrméedlen

C:-QLevGLmevig Grmer

D:-@éraaSlan

Correct Answer:- Option-A
Question39:-gaaiFeme 2 HugH Celwiu®b NS0 s 555 Brantlss 2 sa|dlng ?

A:-ovLri&

B:-Gamupliy

C:-@Qap&s

D:-Qampliy wHmid Gennssl

Correct Answer:- Option-B

Question40:-wafls 2 L alé We Beromer Qg erg) ?
A:-gang Cl&e
B:-prbL Qe
C:-er@ibLy Glged
D:-g&rind Qaev
Correct Answer:- Option-B

Question41:-upeneuser smG6ET 2 Lena FCrHmwns meusHHés ohg Ligeuddled Smiser

slajsamer GeuetlCummidlermen ?
A:-wyflwr
B:-<oCumesflwm
C:-AfCwL g 607
D:-w,f& jdlevd
Correct Answer:- Option-D

Question42:-waflgefler L&, grawb wHmD 2 L@ Heiliuflene S dlwueuhean epeneTuller
ahsl LGS s OLUGSHEDg ?



A:-anamCLITg mevLoen
B:-Quhéermr
C:-flmiepener
D:-Glumepaner
Correct Answer:- Option-A
Question43:-erhg eneul L LOGTGET Saraniiied savrdlermer ?
A:-amaul_Ller A, eneul__1Olesr D
B:-anaul_L_10eir B, enaul L 1bler E
C:-eneul_L et B, eneul’ L 18lerr C
D:-eweul_18e E, eneul_ L tdlerr K
Correct Answer:- Option-C
Question44:-waflg 2 Lelleb LGS D sam(HLlydasiiul L o mliy erg ?
A:-QuoGlgerLif]
B:-(hCwimigerbd
C:-o&Lmeom
D:-oemoremryed
Correct Answer:- Option-A

Question45:-aveureTGL LrGum eThs Wuieys gewpuiler 2022 & Crrud uflens CleueTmmy
?

A:-EDMIFGHLPOL U6 &ET
B:-,mmiGrm

C:-amaugen

D:-weflg Liflewrmold
Correct Answer:- Option-D

Question46:-z2+4z-5=0 FOUTL ML $TEEEIm G X @6 SILIL|GET eTeimer ?
A:-1, -5
B:--1, 5



C:-1,5

D:--1, -5

Correct Answer:- Option-A
Question47:-e(m cramramiLem 10.5 &6 sal g 8.05 238 s0155M60 7 cu(HLD. B 6T GTeumen
?

A:-3.55

B:-4.65

C:-4.55

D:-3.65

Correct Answer:- Option-C

Question48:-10 Gui 15 prisaefle gryeurd @GerdHeng 8 CUIT GITeUTT TS BT _geT
@GO 7

A:-20

B:-15}

C:-18:¢

D:-17 4

Correct Answer:- Option-C
Question49:-@\reir(h Gam g sefled seom 850 e wmmid 680 Sl HlylLin®dmng.
@Bs @rar(h Cariiysafigid &rmar @enLGeuaflufed et amrerTGleanTi =j6rés
CoemauiuBib WsLGLlw urgdrsHler ere] eremer ?

A:-150 &L
B:-170 &Sl L§
C:-200 &Ly

D:-125 &Sl Ly
Correct Answer:- Option-B

Question50:-ep( aul_L & siqamrsdler Crrb 7:20 <486 Qms@h Cung weartlCry wper
HMID BISIL wpeT @QenCuwi 2 eter GCamenTid creve ?

A:-220°

B:-120°

C:-60°

D:-100°

Correct Answer:- Option-D



Question51:-em Lajer grissHlen allene 50,000 epumit. ghissHer afleneuier 6%
Qelignad @W. @ s Caligmeilulld 20% serEpLly auphGEng. @mdmbg 1 Lajer
QUEETWE MG crelcueme] Clamh&s Coua(ib ?

A:-54,000

B:-52,400

C:-54,200

D:-52,000

Correct Answer:- Option-B
Question52:- (9)* + (104 = ergzemer ?

A:-2004

B:-36!

C:-100;

D:-180:

Correct Answer:- Option-A
Question53:-e(m Caialileb 20 Gwhensger umm symsfl wHLGLETEeT 34. 190G, 6
GLBENSHEHESE 1 LT LHMD 4 GLHSSEEHESE, 3 ILIGLEETET (sTHESTe,
ySlw spmafl wdlUbueger cremeamalns @meEw ?

A:-34.9

B:-35.2

C:-34.3

D:-35.1

Correct Answer:- Option-A
Question54:-em Caiailer Corgs Cum 40% wIHliGueamrsar Coameul. e wreareui 200
LG ueaTsar GupmieTerTy. <peme 40 wHiGueaTsdar Gdaorgsmid Csiradle
CamovelwenL_hsmy. ghlamaia crggamen SIS 2bssS Coie| Csmear g ?

A:-500

B:-400

C:-600

D:-700

Correct Answer:- Option-C
Question55:-1, 1, 5, 17, 61,-----,773, 2753. el(hul L crarenanrd sesr_MlwieyLd

A:-210
B:-217



C:-216

D:-215

Correct Answer:- Option-B
Question56:-G\renr(h erawrgetian sal (HS6gTeans 10 whmibd Seudmler CumssHueer 20
craflé, Seubmlen sanedpsafien e CLIHSSDHLIET eTere ?

A:-1/2

B:-1/4

C:-3/4

D:-2/5

Correct Answer:- Option-A

Question57:-g\rear(h Camermigeaten sarelera satlcr ell&lsd 27:64 creammmed, ieummler
Cupuriy ugdlsafler alldlsLd

A:-3:4

B:-4:3

C:-9:16

D:-16:9

Correct Answer:- Option-C

Question58:-15 #5615 aul'lg alflss8e @Q\TenT(h U@THEHEHHS PSSO H CFiig i
L@ el lg ¢m. 75 erafiled wpged(H Qewwliul L Cgrens creer ?

A:-350

B:-300

C:-150

D:-250

Correct Answer:- Option-D

Question59:-em L afssD um 180 e CLmESS Falgw SPlw erewr erg) ?

A:-3

B:-4

C:-5

D:-7

Correct Answer:- Option-C
Question60:-QpH Eremaneuid A whmib B yerells@erée Gearuleomer gryd 100 £.05. A
@B UL 6 STHLD, B @6 m@mm srmpb Cr danguiles Gy Coaussdler oG
Crrsdler Lwamflgsm, Sienel sbg wentl CrrsSHHEGL NG FHI&EGD, AT eTSlT



Senguller LweantlssTe, e weantl CErsHHEGL DG Fbd&EW. eranCGel srisailer Celsld

GTGoTET ?

A:-50km/hr, 40km/hr
B:-70km/hr, 30km/hr
C:-40km/hr, 30km/hr
D:-60km/hr, 40km/hr
Correct Answer:- Option-D

Question61:-sepsaiie sHmed (Sociogram) 2 sHlenw euGss Soells HbgsamemumeTy wiy
?

A:-Gey. ered. GonGrGeom
B:-ameuGam_eivd)
C:-aflé6lamevtd 6jemrL-
D:-smhglel

Correct Answer:- Option-A

Question62:-e(m LML gl iy HGDTMH LT SSl6r WUie|5E audleu@s@Ld WwrhHmLd
eTbg Cuwfeéd SPlwutiu@Gidmng

A:-Crienm rHmLD

B:-Lsaeflw ommhmid

C:-omiliL wrHmLbd

D:-uulmél

Correct Answer:-Question Cancelled

Question63:-2 wihs cuamsmws Csing HUT SeTellamear Heamamdlel Fenel (Intelligence

quotient) Csisseur ?
A:-140 Gued
B:-110-119 @enL Cw
C:-130-139 @enLGuwl

D:-120-129 Qlen Gw

Correct Answer:- Option-D



Question64:-eths 2 anrisslwnearg (Repulsion) o erermibg el Led 2 awrie|s@, o flug) ?
A:-QeaumLiy
B:-idlgwib
C:-uw

D:-54

Correct Answer:- Option-A
Question65:-aflenemum’ (Ha&eT BLog HHSLILIGWTET HDISE (1 el _GeL . @iy
sm&E Csflelss sellwmery wimy ?

A:-Caired &Crmeev

B:-Gamjuil evGlLeTgy

C:-evLmemedl Canmed

D:-aorgren

Correct Answer:- Option-B
Question66:-dlevs - Cumiig e (pliLflrenr 2 are|Sgien wrdlflule, swrfliy (Products)
ThE Hlevavd@s Cambsoreang)

A:-flenameusid

B:-odlulS 6

C:-l@ser

D:-gafsgleuwnner lbgenen

Correct Answer:- Option-C

Question67:-@eumied erg Lweum_(H 2 etellwelle (Applied Psychology) Cepefléene ?
A:-gevaedl 2 emellwied
B:-geps 2 arellwied
C:-Qgmlegienm 2 ereilwicd

D:-@irramieu 2 emeiliied

Correct Answer:- Option-B



Question68:-gmiils cueridsluflen eThss s LsHev, sHCLTMSW STTSsL GrFFameranuil
(Morel dilema) updlw Cuflweuflen urFeneuerw euwgl eubCsHMT Caeralls @, @)L LleD
JOHMSCSTeTHDmiseT ?

A:-gar_enert LHMID EPLILIGHEd

B:-$lmLug

Ci-el L s LIb

D:-geps e(phiens LITTOMHISS0

Correct Answer:- Option-A
Question69:-erhgGeun(p Gswuemau|b Wear(Hb Cslicusne LnigeailiL erbsoeu(m
sTremtyb, Gpblaaub Sdag Hlubsamarb o gram(hsa (Reinforcement)
STIeRilITg &MHSLILILTD. @& WThenL W SHeeflliL

A:-Cey. 19. cur_ser

B:-grien enL_&

C:-umeuGeaomeyl

D:-19. 6roll. evdlesey

Correct Answer:- Option-D

Question70:- 9w g6 sTTSs euerti&fluflen Hlenvgafldr 8 (psed 13 auwig auanrujemen

LmeudSlen LWy eremen ?
A:-oGarmd
B:-<,CLmGermil- =GLmGeevesrt_ev
C:-Gam" g CyrGermisl-GClrsLiCrmél iy

D:-Gami” 14 CrrGenmisl-gmfliiq

Correct Answer:- Option-C
Question71:-2 @& WwaTbe Flerd ¢Thg Bretled 2 & &&THMT Hlmeanssme
Sl FflasliLhdng ?

A:-o5GLmur 1

B:-=215CL_mury 10



C:-=15CLmuy @ rewT_meug eSluwmper

D:-o56C_mury 14

Correct Answer:- Option-B
Question72:-wrail gl o emer FAflwir Luinsl Blmeuearmbigefler(ITE) Copurrena
wrflb el ssliul L g ?

A:-gjanemt el L &6 @66y

B:-breul L sevall Sigeieviy

Ci-Lwl o8lury

D:-sdall gienenr @Quid@ ey

Correct Answer:- Option-D
Question73:-Carerm uetel sre| eumdl erbg CLwfle) SempsELILBE DG ?

A:-KOOL

B:-SAMETHAM

C:-VICTERS

D:-SAMAGRA

Correct Answer:- Option-B
Question74:-gLpBensser curerd, LW, wrmiger, o ulflarmger, @uiHansGum(h
O\E@TESHLOTET FPSHLD GTET AMENGMS LD Feuellggl, smseT Camhs < rmisslgamens ClFuig)
spm&QsTaTer Gouair(Hb. Lssasmisailer LTTLLIMS eusE Tens Wb SHMmId CETeTerTSiadT.

SHME (pemewLl UHHlL Q&S Lflgamed allpmidlwelf wimy ?
A:-Gamdleflwen
B:-7eip BT sreny
C:-sgmaur (Feil
D:-wrermev Camyams
Correct Answer:- Option-A
Question75:-RPWD &l L 1b et ,ar(h Lmpm@peanssled HlannGeupmliuil L g ?
A:-1995

B:-2009
C:-2016



D:-1999
Correct Answer:- Option-C
Question76:-wrevCeoraier LigHlancouder Lig, SR HHE Cd cuay sHCLTMSW cufleans
eTg ?
i) =emy wHMID CFTHSOTET 2 amTi6]
i) urgismiy Caeneuser
i) -2 arrgen
iv) 2 Lc Coeneusser
A:-iv, i, i, iii
B:-i, ii, iii, iv
C:-iv, i, iii, i
D:-iii, iv, ii, i
Correct Answer:- Option-A
Question77:-CuEpsller Li@pLiler euansliumiqen Lilg, 6Thg Smen Li@GLiumiedle

CarssliLi_aflereney ?
A:-BaMISEET DEDLITETLD STE)I&6D
B:-<iigssms samlged
C:-auigeusamss SarLMlge

D:-g&auemaell LwerU(hSgise0
Correct Answer:- Option-D
Question78:-Gpflsemer Curg @L misemeTs LHHIL @WIOLITET LILLD eTemer ?
A:-Agyrophobia
B:-Neophobia
C:-Agoraphobia
D:-Sophophobia
Correct Answer:- Option-C
Question79:-Canreuf_ sriLeny 6ThHS LiSS5555e0 Lied Flewrentdle] LDHHIL Serg)
Camium’enL wpgedled ibdlpsliLi(BsHeni ?
A:-The Nature of Prejudice

B:-Frames of mind

C:-The principles of psychology



D:-Deschooling society
Correct Answer:- Option-B

Question80:-cu&EamrErTTe: Qs &Hoall 2 eralflwieomery wimy ?
A:-8.6160. aned
B:-GLmeoCoedr
C:-19. 61061, evdleenty
D:-grl Camoligm

Correct Answer:- Option-D

Question81:-Fill in the blank with proper phrasal verb.
On the way Vanka the man at the butcher's shop

A:-make out

B:-put on

C:-came across

D:-putin

Correct Answer:- Option-C

Question82:-Select suitable form of the verb to fill in the blank.
He tea every morning.

A:-drinks

B:-drinking

C:-drink

D:-has drunken

Correct Answer:- Option-A

Question83:-Find out the 'gerund' used in the following sentence.
He is fond of swimming.

A:-fond of

B:-swimming

C:-he'is

D:-he is fond of

Correct Answer:- Option-B

Question84:-Fill in the blank with proper article.
The Cow is useful animal.

A:-more
B:-an
C:-the
D:-a



Correct Answer:- Option-D

Question85:-Use proper preposition.
Everyone laughed him.

A:-about

B:-on

C:-at

D:-around

Correct Answer:- Option-C

Question86:-Fill in the blank with suitable verb.
She reading a book when | visited her.

A:-is

B:-are

C:-had

D:-was

Correct Answer:- Option-D

Question87:-Fill in the blanks with suitable verb form.
A pair of shoes more than a hundred rupees.

A:-cost

B:-costs

C:-are costing

D:-have

Correct Answer:- Option-B

Question88:-Which of the following statements are correct ?
1. No sooner had | reached the station than the train left.

2. No sooner has | reached the station than the train left.

3. | reached the station no sooner than the train left.

4. No sooner did | reach the station than the train left.

A:-1 and 2
B:-2 and 4
C:-2 and 3
D:-1and 4
Correct Answer:- Option-D

Question89:-Find out the determiner in the following sentence.
| am going into the forest.

A:-l
B:-am
C:-the
D:-into



Correct Answer:- Option-C

Question90:-Fill in the blank with suitable word.
What a I'l was not expecting to see you here, the principal said to Martha.

A:-beanpole
B:-fidget
C:-vile
D:-coincidence

Correct Answer:- Option-D
Question91:-Sulemmed &L L Ljehr 2 erermmid <,0mCs
Breflenmed &L au(h) - @&@GDLLTalL @)L bEumLD o6l

A:-g5055 2 (heus jemfl
B:-2 cuenip 6wl
C:-Caupmienowiemf]
D:-19lg) G mdgeemnt]
Correct Answer:- Option-C
Question92:-i) usgILILTL(H BIHSERET WS uflwg) WwgmrssTErs.
i) wgyorssTERd BSSTTTL QWDHDLILL LG
i) urargwerr Olb[HEpFHLIMISEE 2 O&H WD 2 @TeanSMmeTs Famid K6,
A:-epeml sadmid Fifl
B:-epeng &HMILD SeuD)
C:-gapm (i), (ii), &f (iii) seum
D:-gapmi (i), (iii), &f (i) seum
Correct Answer:- Option-D
Question93:-2_proyFsEmCHTL 2 erlum

@s0gT_fleo_ oerbuen eubgleTeng).
A:-@lenailena
B:-Garevedlens
C:-Qewiyeflens

D:-ghmerCluenL



Correct Answer:- Option-C

Question94:-Lisrefyai(® 2 ulF er(psgiHEsD, @ ular cripsgisar 2pmid ANsED @b
A:-ep& 3,
B:-semev

C:-omiyy

D:-swss)

Correct Answer:- Option-D

Question95:-Ljenrifl crentagld GlFmevedlerm GlLim(merr
A:-sliLe0
B:-gL
C:-sLenLd
D:-s_(hwiyw
Correct Answer:- Option-B
Question96:-CurlLiy Weneamss Bemamea|b 2 priGdlearmenerGu @L b GlLmib FIe
A:-SLD LTI GTLD
B:-@arL_eCsé
C:-arfl Gaame
D:-feliudlsmyn
Correct Answer:- Option-A
Question97:-i) warlCwsme Saudoamauler 2 sellwmed &I QubHDTET.
ii) wetlCwsme (pFedlehr Ho|bdligsaill b 19Fang GLupHmmeT.
iii) @ipaaTd, WpoHbpUe o swarail b @(mbsg.

A:-gapm (i), (i) &f (iii) seum
B:-gadm (i) &f (i), (iii) seum
Ci-gammi (iii) & (i), (i) seum

D:-Siemansgin &l



Correct Answer:- Option-B
Question98:-ganemTudlcbena (PLILIMISEE @QbBlesCS eremm Limguwieuf
A:-gefleanfl Coflw epmusd Yerener
B:-unmydlgmgen
C:-urpdlumy

D:-&ysm

Correct Answer:- Option-B
Question99:-aumPCwibd Garhens CeupbCs eumpl
Qgererd CummLiber seneal aumfl

@eueufludé GMUAHLD wene

A:-LipLDL LEHEL

B:-Gurdlu wemed

C:-@w ened

D:-erifled oemed

Correct Answer:- Option-B
Question100:-y,. 66T jeUfsaia Hre

A-Slmegan LbbS)

B:-gaens

Ci-ypawrLmeriul &

D:-&iflg gt ()

Correct Answer:- Option-A



